. - o
i
) T -
% CEEE R e
¥

i

e e o N i =
T T — --—-_a_‘,___._'_'____.___.___.___.___.__._..__.___——_—-.- e e e o

—— e e
¥ -.._.,_-_.

T TR g — - —_——— .

T ———— . e MR T, O W O, —m——r

.........

S

-~ ".r | |
¥ ﬁ-“----‘--"*---.-.-.-.-----—---i-rh ------- - -

' ]
Lrll- i E e e - - [ S—— H--'I---r-—l.---—---l----ﬂllli-----lr---r——

' 54;:- %Eﬁ » F BAERG 6B ¢ WIMF=2c » Fv=c .. M _, P M

FV 2

x y_1=1 =2h 7 S **+y*-9<0 B  154)
C.5 0 Al 9 + 1 HIME Ry L435:2+3t5y1--3620 p=3 <2 AN F

QAR Kb Bl LHK ) £
.;: . R

R kLS FHu o ERRERDAR

 *Em%ﬁ (=]
gy+s 0+ Bl (x—2)° -(y+1) — 2 REEHE &

+5=0 1 Bl (x+1)’ +—(y 22 =21 By q;,a..

LB b
2yss=0 + Bi(x+4y +2y=3) = BE "



f_ WIG O, 1) » O,(-6, DIYHIREATIN L1+ 2= 14
O NN 00, By -2, DI 2 1 as (A0 = 8 = 20
lt c‘#'m7l.bi+4&mbil33 '
x-t-n)' gg-nl)‘I .
SORDRR etienl
M o SN A S TGN (R T YRR L
A ﬂ’lﬁl-‘l{

‘:AMy%mR%v

7 3

1
TR T

L M2 g g2 )

l— 2  \'= T —— —
ﬁkr{“s"\ A w 4 A nB

WA R = -;-

e V=3 hed L e=4 A4, 0) ILBM,0)
v ARBIVEIE . B D3
=2a=10 .. PB=10-PA=10-8=2 1 JIi[PA~PB|=8-2=6

:1-._. .'_; ::!t

QEar - &y M




	10a
	10b

